Intrinsic kt



Correlated="*model.*,.*luminosity.*,.*Lumi.*,.*Others.*,.*Backgrounds.*,.*Jet.*,.*Lepton.*,.*O thers.*, *TMD.*,. *SCALE.*,.*correlated.*
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UnCorrelated="*Efficiency.*,.*stat.*,.*Stat.*,.*uncor.*,.*Uncor.*,.*uncorrelated.*,.*Syst.*

Normalization: ScaleFactor=SumDat/SumMc
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Correlated="*model.*,.*luminosity.*,.*Lumi.*,.*Others.*,.*Backgrounds.*,.*Jet.*,.*Lepton.*,.*O thers.*,.*TMD.*,.*SCALE.*,.*correlated.*

Other DY measurments

unCorr ¥ including normalization

UnCorrelated="*Efficiency.*, .*stat.*,.*Stat.*,.*uncor.*,.*Uncor.*,.*uncorrelated.*,.*Syst.*, .*Correlated*'

Normalisation:
* SumbDat = values['data’].copy().sum()
*  SumMc = values['mc'].copy().sum()

e ScaleFactorNew=SumDat/SumMc
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Statistical & systematic uncerainty
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